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(1) f: R3 = R3, (w1, 22,23) = (21 + 223 — 2, 71 + 3, 21 + 322 — Sz + 1).

(2) fr R =R, (21,...,20) = (z1,71 + X2, .. -722:11 1'1'72?:1 ;).

(3) f:R3 = R3, (w1,w0,23) — (23 + 23, 23 + 21129 + 323, 2120 — 323).

(4) f:R* =R, (x1,%2,...,Zn) = (To@)s To@)s - Tom)) (HL, 0 =(12 ... n) € &,).
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(2) R®* DRZ b u, v IZH LT, fou = fo BOIE, u=v BHDILDZ L EZRE.

(3) R" DRZ b, v IZN LT, fop = fu o fo Zifi7TT R ML w € R® B—BWITFEST 5 2 2R, X7 b
NV w % Blu,v) ERT.

(4) FEDXRZ bV u, v LT, B(u,v) = B(v,u) DD IO & 2RE.

(5) HH (u,v) — B(u,v) BHEEEZRAE ST I L 2R K. £7, BJT e BFET 5 2 L 2t (e BHAIT
ThHhdelE, EEDv e R"IIML B(e,v) = B(v,e) =v THEIL%EW\I).
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(1) &, DEI]T, f(x;) =z, (1 =1,...,n) BT o BZ—DFET 2 L 2RE.

(2) sgn(o) A xq, ..., 2, DIRFOMITITIKS N T & ZAEE K.
EFE Dsgn(f) =sgn(o) tBE, fOFFLVS.

B) X=6,2T2. TG NLT, 2 .. X > X % f (o) =701 L ICE>TEKTS. ETDT€6,41
Xt LT sen(f,) B3R k.

(4) X ={0,1,2,...,2022} 3 3. k€ X LT, 2k %2023 THIo7=R0% f(k) b EL. 2¥4 f: X - X
D5 %ZRD XK.



